Graph each linear inequality.

33. y>x+1

34, 3x-4y238 y
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35. Marcus has 50 tokens to spend at the school carnival. The Ferris wheel
costs 7 tokens and the carousel costs 5 tokens. The inequality o[
7x + Sy £ 50 represents the possible ways Marcus could use his tokens 3t
on the two rides. Is the ordered pair (6, 3) a solution for the %
problem situation? i ( % )+ 5 ( 2 ) < 50 g
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Write a linear inequality in two variables to represent each problem situation.
>
36. Tanya is baking zucchini mufﬁx? and pumpkin muffins for a school event. She needs at least 500 muffins for the
event. 4 = zucChuine mup fins ) N
Y= pumpkin winffins e = 500

37. Patti makes decorative flower pots. It costs hero purchase the materials for each pot. She wants to charge

more than ’s labor plus her materials Cost for each pot. ;
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38. Graph the system of inequalities. I
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children. The theater expects to make at least($2000 for each showing. Write a system of mequalmes to represent

39. Carlos works at a movie theater selling tickets. | I e theater has @ eats and charges $7.50)for adults and § or
this situation. You do not have to solve.

¥= # of adults x+y i5<;<>>
5, —
Y= # of children 45 H1= 2 000
40. Is the point (-2, -10) a solution to the system of inequalities? {275—_}? 2
= =57
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41. Write a quadratic function that representsaparabola that opens a'_gward and has x-intercepts (-2,0) and (5,0).

£y = = e+ 2)6¢ - 5)

42. What are the x-intercepts of the function f{x) = (x— 2)(x - 8)?
K-R =06 K-F=0
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43. Factor to determine the x-intercepts. f{x) = x° + 8x + 12 ! 1
Fo)=x>+8x +1&  Fachors )= ()4a)(x+2)
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44. What are the coordinates of the vertex of the graph? : st
Is it a maximum or minimum? | ) e N Gt 5 O8)
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45. Graph the function y = 0.5x> 2 ‘ A \ FE5
State the domain and range. z 0O
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46. How is the graph of y = —4x? F_E}lifferent from the graph of y = —4x?

Y:-4y2-5 914:’-F+s the graph y= “4x* dow
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